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Let v3_funct.1 : 1=0 be given. Let vl_zboole 0 : 1=>0 be given. Let
vl_finseq_6 : t=-1=>0 be given. Let ul_struct_0 : 1= be given. Let k15_euclid :
1=t be given. Let np_2 : ¢ be given. Let vl_topreall : 1=0 be given. Let
v2_topreall : 1=0 be given. Let vl_goboard5 : t==>0 be given. Let v2_goboard5 :
t=>0 be given. Let vl_sprect.2 : 1=>0 be given. Let m2_finseq_1 : t=t=0
be given. Let k7_partfunl : t=1=1= be given. Let np__1 : ¢+ be given.
Let k18_pscomp-1 : 1= be given. Let k3_topreall : 1=1=1 be given. Let
rl_zxreal 0 : 1=>1=-0 be given. Let k4_finseq 4 : 1=1=-1 be given. Let
k23_pscomp_l : 1=t be given. Let k21 _pscomp_1 : 1= be given. Let vl_zzreal 0 :
t=0 be given. Let k22_pscomp_1 : 1= be given. Let ml_finseq-1 : t=1=>0
be given. Let kb_numbers : ¢ be given. Let k4_ordinall : ¢ be given. Let
vl_funct_1: 1=0 be given. Let vl_finseq_1 : t=0 be given. Let m1_subset_1 :
t=-1=0 be given. Let k1_zfmisc_1 : 1= be given. Let k2_z fmisc_1 : :=1=-t be
given. Let vl_relat_1 : t=-0 be given. Let v7_ordinall : t=-0 be given. Assume
the following.

VX0.(vl-zareal .0 X0)=(VX1.(vl_zzreal 0 X1)=(VX2.
(vl_zzreal 0 X2)=(((rl-zzreal 0 X0 X1)A(rlaxzreal 0 X1 X2))= (1)
(rl_zareal 0 X0 X2))))

Assume the following.

VX0.((—v3_funct-1 X0)A((—vl_zboole 0 X0)A((vl-finseq-6
X0 (ul_struct_ 0 (k15_euclid np__2)))A((vl_topreall X0)A((v2_topreall
X0)A((v1-goboardd X0)A((v2_goboard5 X0)A((vl_sprect-2 X0)A
(m2_finseq-1 X0 (ul_struct_0 (k15_euclid np--2)))))))))))=(
—(k7_part funl (ul_struct0 (k15_euclid np_-2)) X0 np__1 = k18_pscomp_1
(k3_topreall np_2 X0))A(rl_xzreal 0 (k4d_finseq-4 X0 (k23_pscomp_1
(k3_topreall np_2 X0))) (kd_finseq-4 X0 (k22_pscomp_1 (k3_topreall

np-2 X0)))))
(2)



Assume the following.

VXO0.((—v3_funct_1 X0)A((—vl_xboole 0 X0)A((vl_finseq 6
X0 (ul_struct_0 (k15_euclid np-2)))A((v1_topreall X0)A((v2_topreall
X0)A((vl-goboards X0)A((v2_goboard5 X0)A((vl-sprect-2 X0)A
(m2_finseq-1 X0 (ul_struct_0 (k15_euclid np--2)))))))))))=(
—(kT_partfunl (ul_struct_0 (k15_euclid np_2)) X0 np__1 = k18_pscomp_1
(k3_topreall np__2 X0))A((k21_pscomp_-1 (k3_topreall np_-2 X0)#
k22_pscomp_1 (k3_topreall np_2 X0))A(rl_zzreal 0 (k4_finseq-4
X0 (k22_pscomp_1 (k3_topreall np-2 X0))) (k4d_finseq4 X0 (k21_pscomp-1
(k3-topreall np__2 X0))))))

(3)

Assume the following.
VX0.VX1.(m2_finseq-1 X1 X0)<(ml_finseq-1 X1 X0) (4)

Assume the following.
kb5_numbers = k4d_ordinall (5)

Assume the following.

VX0VX1.(m2_finseq-1 X1 X0)=((v1i_funct-1 X1)A(
(vi_finseq-1 X1)A(ml_subset-1 X1 (kl_zfmisc-1 (k2_zfmisc-1 kb_numbers

X0)))))

(6)

Assume the following.
VX0.¥YX1.(ml_finseq.1 X1 X0)=((vlrelat_1 X1)A( (7)

(vi_funct_1 X1)A(vl_finseg-1 X1)))

Assume the following.

VX0.VX1.((vlrelat-l XO)A((vl-funct-1 X0)A(vl_finseq-1 (8)
X0)))=(ml_subset_1 (k4_finseq-4 X0 X1) kb_numbers)

Assume the following.

VX0.VX1.((vl-zzreal 0 X0)A(vl_zrreal 0 X1))=( )
(rlzareal 0 X0 X1)V(rl_zzreal 0 X1 X0))

Assume the following.
VX0.(m1_subset-1 X0 kd_ordinall)=(v7_ordinall X0) (10)

Assume the following.
VX0.(v7-ordinall X0)=(vl_zxreal 0 X0) (11)



Theorem 1

VXO0.((—v3_funct_1 X0)A((—vl_zboole_0 X0)A((vl_finseq_6
X0 (ul_struct-0 (k15_euclid np-_2)))A((vl_topreall X0)A((v2_topreall
X0)A((vl-goboardb X0)A((v2_goboardb X0)A((vl_sprect2 X0)A
(m2_finseq-1 X0 (ul_struct_0 (k15_euclid np--2)))))))))))=(
—(k7_partfunl (ul_struct0 (k15_euclid np-_2)) X0 np__1 = k18_pscomp_1
(k3_topreall np__2 X0))A(r1_zxreal 0 (k4_finseq4 X0 (k23_pscomp_1
(k3_topreall np__2 X0))) (k4_finseq 4 X0 (k21_pscomp_1 (k3_topreall

np-2 X0)))))



